

$$\alpha_1 + \alpha_2 = 21, \quad \alpha_2 + \alpha_3 = 12 \quad (5)$$

$$\frac{\alpha_1(1+q^3)}{q\alpha_1(1+q)} = \frac{1+q^3}{q(1+q)} = \frac{(1+q)(1-q+q^2)}{q(1+q)} = \frac{1-q+q^2}{q}$$

$$3(1-q+q^2) = 7q \Rightarrow 3q^2 - 10q + 3 = 0$$

$$\Delta = 100 - 36 = 64 \rightarrow \frac{10 \pm \sqrt{64}}{6} = \begin{cases} 3 \\ \frac{1}{3} \end{cases}$$

$$\alpha_1(1+q^3) = 21$$

$$q=3 \rightarrow (\alpha_1 + 3\alpha_2) = \alpha_1(1+3) = 21 \rightarrow \boxed{\alpha_1 = 1}$$

$$1, 3, 9, (27) \rightarrow \text{جواب}$$

$$\alpha_1 + \alpha_2 + \alpha_3 = \alpha_1(1+q+q^2) = 13 \quad (6)$$

$$\alpha_1 \cdot \alpha_2 \cdot \alpha_3 = \alpha_1^3 \cdot q^3 = 27 \Rightarrow \alpha_1 q = 3$$

$$\alpha_1 + \alpha_1 q + \alpha_1 q^2 = 13$$

(7)

$$\alpha_1(1+q^2) = 10 \rightarrow \alpha_1 + \frac{q\alpha_1}{\alpha_1^2} = \frac{\alpha_1^2 + q}{\alpha_1} = 10$$

$$\alpha_1^2 - 10\alpha_1 + q = 0$$

$$\alpha_1 = \begin{cases} 1 \\ +9 \end{cases}$$

$$q = \begin{cases} 3 \\ \frac{1}{9} \end{cases}$$

$$\alpha_n = 1, 3, 9, 9, 3, 1$$

$$2, 5, 11, \dots \quad \alpha_n = 2(3)^{n-1} \quad (8)$$

$$S_{10} = \alpha_1 \left( \frac{q^{10} - 1}{q - 1} \right) = 2 \left( \frac{3^{10} - 1}{3 - 1} \right) = 3^{10} - 1 \quad (\text{جواب})$$

$$P_n = \sqrt{(\alpha_1 \cdot \alpha_n)^n} \rightarrow \sqrt{(2 \times 2 \times 3^9)^6} = (2^2 \times 3^9)^6 \quad (\text{جواب})$$

آرام ضربان A دهم تکلیف 14

$$\alpha_n = \frac{1}{r} (r)^{n-1} \quad (1)$$

$$\alpha_{10} = \frac{1}{r} (r)^9 = 256 \quad (\text{جواب})$$

$$\frac{\alpha_1 q^6}{\alpha_1 q^{12}} = q^6 = r^6 = 16 \quad (\text{جواب})$$

$$b^r = \alpha c \rightarrow \begin{cases} \alpha = r^r \\ c = r^1 \end{cases} \Rightarrow r^{10} = b^r \quad (\text{جواب})$$

$$b = r^6 = 32$$

$$\frac{\alpha_1}{\alpha_0} = \frac{\alpha q^r}{\alpha q^r} = q^r = \frac{96}{12} = 8 \rightarrow q = 2 \quad (2)$$

$$\alpha_0 = \alpha_1 q^r = \alpha_1 \times 2^6 = 12 \rightarrow \alpha_1 = \frac{3}{2}$$

$$\alpha_n = \frac{3}{2} (2)^{n-1}$$

$$\alpha_{10} = \frac{3}{2} (2)^9 = 312$$

$$\alpha_1 \times \alpha_2 \times \alpha_3 \times \alpha_4 \times \alpha_5 = 305 \quad (3)$$

$$\alpha_n = 3, 3, 3, \dots \quad q = 1$$

$$3 \quad (\text{جواب})$$

$$3^2 = 9 \quad (\text{جواب})$$

$$r^a, r^b, r^c$$

$$b^r = \alpha c \rightarrow r^a \cdot r^b = 32 \rightarrow r^{a+b} = 2^5 \quad (4)$$

$$a+b=5$$

$$b = \frac{a+c}{r} = \frac{a+b}{r} = \frac{5}{r} = 2/5$$

$$x+1, x, 1-x \quad (5)$$

$$b^r = \alpha c \rightarrow x^r = x - x^r + 1 - x = 2x^r = 1$$

$$x = \pm \sqrt{\frac{1}{2}}$$

$$\alpha, \alpha q, \alpha q^2, \dots$$

(9)

$$\text{سلسلة جبرية} = \underbrace{\alpha q - \alpha}_{\alpha(q-1)}, \underbrace{\alpha q^2 - \alpha q}_{\alpha q(q-1)}, \underbrace{\alpha q^3 - \alpha q^2}_{\alpha q^2(q-1)}, \dots$$

$$\rightarrow \alpha_n = \alpha_1 (q)^{n-1} \Rightarrow \alpha(q-1) \times q^{n-1}$$

قدر نسبي = q

(10)

$$S_n = \frac{n}{2} (2a + (n-1)d) = \frac{n}{2} (\alpha_1 + \alpha_n)$$

(الف)

$$S_n = \alpha_1 + \alpha_2 + \alpha_3 + \dots + \alpha_n \Rightarrow S_n = \alpha_1 + (\alpha_1 + d) + (\alpha_1 + 2d) + (\alpha_1 + 3d) + \dots + \alpha_n$$

$$S_n = \alpha_n + \alpha_{n-1} + \alpha_{n-2} + \dots + \alpha_1 \Rightarrow S_n = \alpha_n + (\alpha_n - d) + \dots + \alpha_1 \leftarrow \text{حالا از آخر به اول}$$

$$2S_n = \underbrace{(\alpha_1 + \alpha_n) + (\alpha_1 + \alpha_n) + \dots + (\alpha_1 + \alpha_n)}_{n \text{ terms}} \Rightarrow 2S_n = n(\alpha_1 + \alpha_n)$$

$$S_n = \frac{n}{2} (\alpha_1 + \alpha_n)$$

$$S_n = \alpha_1 \left( \frac{1-q^n}{1-q} \right)$$

(ب)

$$S_n = \alpha_1 + \alpha_1 q + \alpha_1 q^2 + \dots + \alpha_1 q^{n-1} \quad \times q \rightarrow qS_n = \alpha_1 q + \alpha_1 q^2 + \dots + \alpha_1 q^n$$

$$\begin{aligned} & \text{مقابل هم می آوریم} \\ & S_n - qS_n = \alpha_1 - \alpha_1 q^n \end{aligned}$$

$$S_n(1-q) = \alpha_1(1-q^n)$$

$$S_n = \alpha_1 \frac{(1-q^n)}{(1-q)}$$